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Hote: Write Answers to the Questions on the objective answer sheet provided. iour possible answers A, B, C and U to each g
S Vé: el q
answer you consider correct, fill the corresanding circle A, B, G or D given in front of each question with Marker or Pen ink oﬁ h(jangsﬁé‘ré‘h%g%gvﬁergi 4

11 ‘ulz\c _ wp/////"),g
4
(A g, o {B) r {€) R (D) A
2 InanyAABc [P859
-' ab
I A (B) cos P/, ) - Cos?Y, ) Cos o
3. Cos (Tan™0) = ___ ;
(A) -1 {8 1 {€) (D) 1
z
4. Solutionof 1+ Cosx = 0 in [0 2w] is;
I . ) 57
0 7 @) s © o)
5 The sel{1} possess closure propeity under;
A Addtt;on , B) Mqltnpl‘;cation (€ - ([J_‘\Both A&B
6. Afunction f: 4 - B is called an nto function if: 7 %
) Range of f = 4 (8) Range of f # A €. ) Wge of f =+ B
1 2 -3 k
A= 0 -2 o] tenja) = \ TN
-2 =2 1 .
(A) 4 ®) @7\ o)
8 Iforder of a matrix “A”is m x 1/and order of matrix| "B 15 n % p Rgn order of product of matrices AB i
{A) mxp 8 nXp | (©) /@9/
8. Theroots of x2 — 7x 4 10 = 0 ure:
(A) =5, =5 B) 2, kw@/ 2,8
10, Hw, B arethe root0 ofit’ Z\ 2x 4 4 = 0, thensum of o
4
" g _ b 4
: \, o) .
A f l
11, Parial fractions o W) .
A B \ : .+ B C A Bx 4+ ¢ Ax + B
O R R i T s (¥] — g —— D S
& ;\—14‘<+1 \') X + @ r~1Fx+] © xi—1

12. / Next terms of sequence 7, 9, 1?:\16 are?

(A; 18, 20 )] \ 19, - (€ _ 20, 22 (8)] 21,27
\a(e in. G.P then com.mori ra .

/ ]
5 B C) b g
zr_];\\ @ © . o) L
14. Hy, = n nis: N \
5 € 4 (D) 3
15, ln how many ways cap 4- key P arranged on a circular key ring: '
2 (C) 3 (D) 4
16. nl > n? is true for '
2 () 3 D) 4
17. he formula for (r + D)th tem: of binomial expansion of (a + x)™ is: :
; n w i a0 i - = n non~ 4 nontr
A <7) a5 ] (\r)a“x (C) (T)a = D) (7)0 X
18.  Which one 1s the quadrantal angle:
(A) 30° {13) 450 © 60" D) 90°
19. Cos2 o= __ .
{A) 1-2Cos? « {t 2 Cos® o« ~1 {©) Sin « Cos o ) 25in o« Cos

20, Period of Cosecf is

{A) Zir {t) 47t (©) . 61 o) 8n
821-15-A7
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SECTION- Z,,)////// 2
2. Write short answers of any eight parts from the following: (8x2=16)
L Name the properties used in equations: (a): 100 + 0 = 100 (b): 1000 X 1 = 1000
18 , L - . . _
Separate into real and imaginary parts, if Z = i, Differentiate between Equal and Equivalent sets, with
. example.
W Write the set: {x|x € N /14 < x < 12}, in descriptive and tabular forms; V.. Define semi-group.
o . 3 1 x} viil. Ifthe matrices A and B are symmetric and AB = BA, show that
vi. Findvaluesofxif -1 3 4{=- 30 AB is symmetric.
x 1 0
Vil f A= {; 1+ l] find A + (&) . Solve: x(x + 7)=(2x- (&4) by factorization.
=1
X I is acube root of unity, form an equation whose roots are Zw an f w?
X, Find two consecutive numbers, whose product is 132. Xii. ./~ Find the ihfee cube roots of -8
3. \Write short answers of any eight parts from the following: (Bx2=16)
; . ; " x?-10+13 . N . ird Vulgar fractiomeguivalent to recurring
L. Without finding constants witite D516 into partial fractions. decimal 0.7
i (7 i - 7 y
i Find the nth term of-sequence (5) (g) ( e C WM‘TWWG n4 and 16.
Vo L L ndifo << 3 RY:
fp=4 5t ¥ and if 0 < x < 274, thenswatx =T
, § o . . . . I 13
vi.  Find 125 term of H.P: 1,/3,2/9 ,1/6 iy “Rjpd the termny ing x ™% in theeXpansioy of (x = ;25)
Vil How many words can be formed from PLANE using gl letters when no letter is to be repea d.
ix.  Write formula for "P /énﬁi % dle is throwp., Find the pfobability that dots on top are prime numbers.
Xi.  Expand (1 — x)1 2 up to %erms by binomial thebr m// N\ '
xil. If x is so small a/tjt{square ahd higher powersb neglect}d,{emW‘g ~1+ 32—"
4 Write short 4swers of any nine parts from thefollowing: (9x2=18)
. /Define the word “Trigorometry” i [ _m
/ ofine goriomgtry Find tan and cotd for 6 = —

}n.
V.
vii.
X,
X,
Xi.

xil.

Note

9.(a)

i _Find the value of cos (THE)

Show \tsin?' (%) + gin? (\%ktanz &-—i}/
ove thahir\i(moo-i-oc) Sin(90%—«) =~Sin « (o5 vi. Define the principal tangent function.

Provb{wat Sin(\ot\kﬁ)sm(oc -B) (D

Solve them triangle AEC inwhigh: 7 = 90°, b = 684 , ¢ =962

Solve the triangleMBC if /!3/;600 r=15°, b=+6

Find the area of trig eABC for b=216, ¢=302, x=52040'

Gos?f3 — cos? . vili/(_Define the period of a Trigonometry function

Define the trigonometric equation. xiil.  Find the solution of Cosec § = 2 which fie in the interval [0, 2]

SECTION-HI

Attempt any three guestions. Each question carries equal marks: (10x3=30)
. ... f2 ~1j,_f0 -3 8

Find the matrix A if Ll 9 ] A= [3 3 1*7}

For what values of “m” tha roots of the equation x¢=2(1+3m)x +7(3+2m) =0 be equal?

2
Resolve into partial fracticns -

(x~2)(x-1)*
Find the values of n and r when -1 .on oot =3:6:11
Cy = O Creq
Sumthe seriesuptontems 2 + (2 +5) + (2 + 5+ 8) 4 o
i i ; ¢ 1 l..‘? _}.S_E— =4/
Use binomial theorem fo show that: 1+ 5 + 5 + 155+ V2

Prove that M835e6= . toné + sect (b) Prove that cos20° + cos100° + cos140° = 0
tanf-secf+1

The measures of sides of a triangular plot are 413,214 and 375 meters. Find the measure of corner angles of the plot.
8 . =1 77




Ieferere [Raito | whemiedinty e omndidste | PSSC-(PDA 20 Trapercose [ 6 (109 [ 8]
Mathematics (Objectivie) (For All Sessions) (el | Time: 30 Minutes Marks : 26

R S &
Note: Write Answers to the Questions an fag objeciive answer sheet provided. Four possible answers A B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C o [ given in front of each question with Marker or Pen ink on the answer sheat provided.

14 The sum of infinite geometric s 3ties with common ratio |} < s R ﬂ ///ZQ;'Q/S
) e ) L. () A o) 4
1—7 147 : -yl 14t
2. Adie is_roued. The probability ‘hat the dot on the fop is greater than 4 is:
1 , 1 1 2
(A Z {B) 5 {© 3 ) 3
3. Thevalueof ?Cyo =
A 11 (B) 66 () 90 5 0) 2
4 The sum of exponents of ¢ aad b in every term in the expansion of (a + DY 1§
) 1 (B) n+1 © n o) n -1
5 The inequality nt > 2" — 1 i valid if is:
(M) n=3 ®) n<? () n>. N nz3
6. %73 radians =
(A 120° B) 60° 400
7 Sin@r-0)=
{A) Sinf ) —5ind osd
g, The period of Sin 2x = )
A 2 — 1t
9. FEE’- E= cos B—
A bc ?
10, Hero's formula for area of frial
(A \/s"(?f"a”)'[s Jby's - o) ! - st — . -_iiab sinT

12. Y sins= cosx thenx = g C 59 60°
13, THe equatidn? + 1 = 0 has solution in’ \ '

M ®)

14. — gbeagi Kc:ndi’dona! then ~g — ~pPN&
{A) Convers (B) Inverse Contra positive ) Positive
15.  if A and Bagg non singx\ﬂbﬁ‘matrices, then (AB) ™
\1

) p @ A Bt © B4 o) BrA
N\

6. AX = 0is homogensgus system 4] # 0 then system has:

{A) No solution \ Trivigt solution (€ Non-trivial solution )] Infinite solution
17, 47 =¢§- then x =: y
7 1 4
M) 1 B) - ©) -1 ) -
2 2
18, An equation which remains unchanged when x is replaced by i is:
A Exponential ®) ) Reciprocal © Radical o) Reducible
19.  Partial fractions of ;—%;; Aill be of the form:
A B Ax + B Ax B A+ Bx
A N EA B e gy e e e )] T
W x+1 x—1 o x2 -1 o x~l-~'jl+x~-'l o x2 -1
20.  General term of the sequence 1,3,5.. 18 ,
(A) 2n-2 (8} n () 2n—1 (O 3n
§23-11-A- .
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SECTIONd /Z
2. Write short answers of any eight parts from the following: w/ 1) ~2-23 (8%2=16)
Lk Fm'd the multiplicative inverse of (—4, 7} i. ProvethatZ = £ ifZ isareal number.
i, Write down the power set of {9, 11} iv. Construct the truth table for (PA ~P)— ¢
v. Define a group. N , 1 2 6 0 ‘
vi. HA= [a b} and A2 = [ 0 0] find the value of a and b.
) 1 -1 3
vii, Findxifl—1 =x .} 1 2|=0 vili, Show that AA® is symmetric for any matrix of order 3x3.
2 -4 X

ix. Solve the equation: (a + b)x* + (a + 2b + c)x+b+ c --
X, Find the condition that one root of x* + px + ¢ = 0 is dOL e\oth\

vi.  Show that the roots of (mx + ¢)? = 4ax will be equal C ,m 7 Q

xil.  Solve the equations simultaneously: x +y = 5; x% 4+ Ry? = \1\?L~,J "~

3. Write short answe's of any eight parts from the follow ng ‘“\\ 8x2 =16)
i. Resolve into- ————par tial fraction. -~ rlte first4 rcfg‘(ermgik{a} — J

i, If nth term of the A. F.is 3n — 1, find t%,ﬂ p. Eva te 41,001 )

//.,_..\\

Orems: 03) €

X, Usmg binomial t i _calculate va!ueu

4, Write short apgwers of any njne arts fron&he follo (9x2=18)
i, Find 6 when 1.5cm,r=x2pcm i.  Write domain and range of sin x
i If tang 0 and ; in which quagrant 0 yi)e.
# o
/ v. Prove than'sin? 7 /g + sin? /4 4 tad /4 Y v.  ProvethatR = 2=
| e distance between A(3,8) and B(5.6). vii.  State law of Smes.
\ fii.Prove thgt sin(45° + = (sip o« $os &)
s
X Find the value|of sin 2 xw co8 xX= and 0 <x< /5
X. For AABCIf «=35°17"; = 45°1 13" b 421 findaandr.
xi. Find the value'of cos(sin™ —\/1-5) Xi.  Solve cosx = ?where x € [0,2m}]
xil. Define trigofiometi Leé]uation. Give one example.
' SECTION-H
(10x3=30)

Note Attempt any thres guestions. Each question carries equal marks:

2 3 -1 9
5.(a) Reduce the following matrix into gchelon form: [1 -1 2 —3}
3 1 3 2
(b) For what value of m will the roots of following equation be equal?
(1+m)x —~2(1+3m)x +(1+8m)=0

Resolve — mtc- partial fractions.

(b) Acardis drawn from a deck of 52 playing cards. What is the probability that it is a diamond card or an ace?
Show that sum of n. A. Ms between ‘g’ and ‘b’ is equal to n times their A M.

a)
b) Ifxisvery near ejual to 1. Then prove that Px? —gx? ~ (p — q)xP+a
) A railway train is running on circutar track of radius 500 meters at the rate of 30 km per hours.
Through what angle it turn in 10 second

(b) Show that cos20° cos40°c0s80° :'5

. o i & B8 Y )
9.(a) Show that r; = 4R Sin . Cos =.Cos -

_4 120 g 12 f Je?
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